Q1. Fill in the blanks using words that are given below:	[7]

	cling
	sunlight
	seeds
	wind
	disperse
	float
	soil



The fruits that we eat have _____________ in them. Seeds grow into baby-plants. If these seeds grow right under the parent plant, they shall be weak because the parent plant will block the _____________ which the baby-plant needs to make food. Similarly, the parent plant will take water from the ____________ and the baby-plant will have less water.
[bookmark: _GoBack]This is why seeds need to ______________. They spread out in different ways. Some ______________ to animal fur. Others ______________ in water while some others are carried away with _______________.
SOLUTIONS
Q1:
seeds; sunlight; soil; disperse; cling; float; wind;
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